WORKSHEET: VECTOR FUNCTIONS

2. Define f(z) = 22 + 23 for z = (z1, x2).

1. Define f(z) = a”x for x = (x1,22) and ~
0= (2,1). (@) Find /(5,-3) = 5> +(-3)
Find f(5,—3
(a)z ': f: ) =35+9= 34
- [LJ:) [{;1 = |0-12= -]
(b) Foru=(5,-3),v=(4,1), a =10,
(b) Foru = (5,-3),v=(4,1), a = 10, and 3 = 2, find:
and g = 2, find: i.ou = Jp (5),3)1(5'0)—30>

i. au

0. (5,4)= (50,-30)

i. Bu = Z(H)D-’—@ )2)

W\A\] C}QU

i. Bv

§ = 2(a,0=(3,2)

<

Y i, au + Bo ii. aupu = C’S'%,'Z(&B
(5%,-2%)
. f(a+ o) V. floutBo) @3) (23)

[L,] [z% b-112= 4 - YH/49

V. af(u) = lo< [Z—LT [_‘3;J> V. af(u) = 10 < 57'+ (—3)7_)

=0 (3%)= 370
= lo(-D=-20 )

vi. Bf(v) ]) vi. Bf(v 2.(41 + l>

= l':l-) =
=2(84LD= ;u; 2(

vii. af(u) + Bf(v) vii. af(u) + Bf(v)

= 20 429 =Y _ ayp +3Y4 = 3FY

Linear 1 Ch2



3. Define f(x) = 4z, —x, +2forz = (z1,22).

-
-

(@) Find f(5,—3)

Y(5)-(3)42 =25

(b) Foru = (5,-3), v = (4,1), a = 10,

(c) Foru=(5,-3),v=(4,1), = 0.9,
and 5 = 0.1, find:

Lou= O, ‘1(5 )—33
=(4.5,-2%)

i. Bv =o.l (q)D = (0.4>0.1>

S PAYTO @

ii. au+ Bv

= (4.4,-2.6)

iv. f(au+ po)

= 4(4.9)- (-1.6)+2 = 24.2

and g = 2, find:
i. au
\Y = /D (S)—'&):CgO)—BO)
:
\ i. Bv
~+
C
iii. au+ Bv
=(5%,-2%)
iv. f(au+ pv)

= 4(5%) -(-28)+2 = L6

V. af(u)
/0-25=25D

Vi () = Z(ﬁ (4, 1\>

_ 2<L[.L[—) +2>: 9.13 =34

vii. af(u)+ Bf(v)

= 239Y

Linear

v. af(w) = O. ?(4‘5 —(’33‘1’2-)

vi. ﬂf<v>~,0.l(Ll-L/—/+2>
=0.1(1F)=l.F

vii. af(u)+ Bf(v)

)25 +].7F
A4, 70
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-
> L = 7’] [X\
4. Define f(z) = Tzy — o for @ = (1, z2). l‘j {:" X2

@) Find f(5.-3) = 2.5 —(-3) = 3S+3= 38§ V

(b) Foru=(5,-3),v=(4,1), « =10, and 5 = 2, find:
i. au

- 10 (5,-3) = (50,-30)

i. fu

= Z(‘{)D:G&)Z)

A‘VIW\l

iii. au+ Bv

=(5%,-2%)

iv. f(au+ Bv) q’ (’5%) L’Zg> Ll 34

V. af(u) = |D ( 3%} ';3%0

vi. Bf(u 2_(7,4 \ 2,(2‘67 54

vi. af(w)+8f(v) = 3801 SU = H3Y

Linear 3 Ch2



